Compare Number Bonds

1. Tick the number bonds that are less than 8.
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3. Tess and Eli are finding number bonds that are equal.

A. B. C. D.
(20 #) (50 ) (#-7) (558
(75 i (55

Match the pairs to find the odd one out.
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Compare Number Bonds

4. Tick the number bonds that are greater than é.

[A. 443 ] [B. O+88Q] [c.
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5. May is comparing number bonds.

Is her statement correct?
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6. Sam and Ben are finding number bonds that are equal.

A. B. C. D.
000 000
200+ 2 J ([ asa J[s+0EC) [ s+0 |
E. F. G.
L see 82 J[ 80 |
Match the pairs to find the odd one out.
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Compare Number Bonds

7. Tick the number bonds that are greater than six but less than ten.

A. B. C.
[ 5+00 ] [ seven + three ] [ 5 + three ]
D. E. F.
[ six+0 ] [ three + 4 ] [ three + six ]
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8. Max is comparing number bonds.

seven + 1 = six + three

Is his statement correct?
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9. Finn and Liv are finding number bonds that are equal.
A B. C. D.

[ 4 + three ][ six + 2 ][ 3 + seven ][ three + 5 ]

E. F. G.

[ 9+0 ][ 5+OO][ 0 + ten ]

Match the pairs to find the odd one out.

RPS
HW/Ext




Answers

Homework/Extension
Compare Number Bonds

Developing
1.A,B,DandF

2. Tara is incorrect because both number bonds have equal totals.

3. A and G both equal é; B and E both equal 5; D and F both equal 10. The odd one out is
C which equals 7.

Expected
4. A, C,DandE

5. May is correct because 7 is less than 8.
6. A and C both equal 9; B and G both equal 8; D and E both equal 7. The odd one out is
F which equals é.

Greater Depth
7.A,C,Eand F

8. Max is incomrect because 8 is less than 9.
9. A and F both equal 7; B and D both equal 8; C and G both equal 10. The odd one out is
E which equals 9.



